ΝΑ ΚΑΝΕΤΕ ΤΙΣ ΑΡΙΘΜΗΤΙΚΕΣ ΠΑΡΑΣΤΑΣΕΙΣ (να φαίνονται βήμα βήμα οι πράξεις) :
ΠΑΡΑΔΕΙΓΜΑ:
Α= 18 + 6 : 2- 4 * 3
Α=18+3-12
Α=21-12
Α=9  
Β= 56 – 6 * 5 + 18 : 3 
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Γ = 100 – 56 : 8 + 7 * 9 


Δ = 15 + ( 16 – 8 : 4 ) – 6 * 3 



Ε = 65 – ( 100  - 6 * 9 ) + 63 : 3 





Ζ = 10 * 4,5 + 0,5 – 1,5 : 3 + ( 27 – 2 * 9 ) 





Η = ( 9 : 10 + 8 : 10 ) + 5,4 * 5 – 0,7 



Θ = 78 +  2 : 10 – 5 


Ι = 450 : ( 100 – 11 * 5 ) + 45 




Κ = 60 – 14 * 2 – ( 5 * 4 + 2 ) 




Λ = 150 + ( 12,4 + 12,4 * 9 ) – ( 150 + 204 : 2 ) 




Μ = 20 – ( 5 * 1,20 + 4 * 0,70 + 3 * 0,80 ) 
